Divide by 3

1. Which one is the odd one out?

‘A. N\ (B )
O O O O ' 888
O O O O 000
O O O O 000
- AN 000 J
C. Qo> \(b. )
000 000
000 000
000 000
17\ 000 AN 0
2. Complete the calculations using <, > or =.
18 + 3 4
©0O000000000000000
27 + 3 9

©@09000000000000000000000000

12 + 3 5

7 ©@00000000000

3. Gurpreet says,

| can share 21 sweets
between 3 people
because each
person will get 7

sweelts. Yy,
11 000000
Is sh t? Explai Q299909
s she correct? Explain your answer. OO OO OO

W %
HW/Ext




Homework/Extension
Divide by 3

Developing
1.B

2> =<
3. Yes, because 21 £3=7



